D V5-1>1 @ 5-V5>5- 6
® V2-1<+3-1 @ Vi8+2> V15+2
@—\/5>—\/5

® —VB - (< VB) = VB + vB <0
. —V6<—-+5
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@ V50 = V52 x2 =542
@ Vo8 = V72 x2 =72
® 3V7 = V32x7= 63
@ 8V2 = V82 x2 = VI28
®4V3 = V2 x3 = Va8




3. 2v50- Vo8 + VI8 & ANtotH?

D -3+2 @ 42 ® 52
@6z ® -7V2

(F4]) =2V5x5x2—- VIxTx2+ V3x3x2
=10V2-7V2+3+2
=62




4.  (-4x-5)% S HAHsHHE?

@D -8x2-20x-25 @ -8x%—40x-25
® 16x2 +20x + 25 @16x2 +40x + 25

® 20x> +10x+5

(=4x)% + 2 x (=4x) x (=5) + (=5)% = 16x% + 40x + 25




(x + 3y) (x - 3y) & AH5HA?

® x-3y @ 22 - 3y? @xQ_ng

@ ¥+ ® 22— 9y

x2 - (3y)2 = x2 — 9y2




6.

4x% 4 oOx + 16 o] SHAFA o] H uj, o]

O (2x+1)2 @ (2x+2)?
@) (2x + 412 ® (2x25)2

(2x+4)? = 4x? + 16x + 16




D)sx -1 @ 5x+1

@ 7x-1 ® Tx+7

® Tx+1

6x2 +x—12 = (3x - 4) (2x + 3)
o (3x—4)+ (2x+3) =521
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(F4) = (4x-3) (2x - 1)o|E=
dx-3+2x-1=6x—-4
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8x2%y — 4xy = 4xy(2x — 1)
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@O x?=x*-2x @4x2:2(x—1)2+5
@ x*-2x? + 3 =2x3 - 2x? @ 2+1=(x+1)(x-1)

® x*-bx=x(x+7)

@42 -2(x-1)°-5=2x2+4x-7=0




11. oA A Bx-4)2-2(x-3)2 =02 ax’ +bx+c =09 EZ
uerd o, ac - b 2] gh2 Fstefzt

(8x-4) ~2(x=3)? = 0
9x? —24x+ 16— 2x> +12x - 18 =0
Tx?-12x-2=0
La=7b=-12, c=-2
sac—b=-144+12= -2
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13. (x-2)(x+2)(x® +4) & AAsHA?

D x*-4 @ x*-16 @ x*-4
@ x*-8 @x4—16

(x> —4)(x* +4)=x1-16




14. (-3x+4)(5x-6) = ax®*+bx+c € W, &5 a, b, ¢ ol ot a+b-c
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> =g 47
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(—3x+4)(5x - 6)

={(-3) x5} x% + {(-3x —6) + (4 X 5) } x+4 x (-6)

= —15x% + 38x— 24

=ax?+bx+c

watA g = -15, b=38, c = —24 °|B & g+ b — ¢ = 47 °|t}.




15.  (2x-3y)2-4(x=Ty)(3x+2y) & ANtote] TFa] §F 210] ax? +bxy-+cy?
A, a+b+c 2 G FoHH?

®-25 ©-9 B9 @an @

(2x = 3y)2 — 4(x = Ty)(3x + 2y)

= 4x? — 12xy + 9y? — 4(3x% - 19xy — 14y?)

= 4x2 — 12xy + 9y? — 12x% + 76xy + 56>

= —8x2 + 64xy + 65y°

Wt a4+ b+ c = -8+ 64 + 65 = 121 ©|c},
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@ xy+3x+4y
@ xy+3x+4y+3

@ xy+4x+3y+4
(@)xy—i—4x+3y+12

(x+3)(y+4) =xy+4x+3y+12
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T oA a2 —4x+3 7 2x2 - 3x-9 9

O x-1 @ 2x-3
@ 2x+3 (@)x—S

¥ —dx+3=(x-3)(x-1)
2x2 —=3x-9=(2x+ 3)(x - 3)




19. 222 +Ax-3 9 A4 x -3 A wf, A 9 ZhS Hotolt

2x2 +Ax-3=(x-3)(2x+a)
=2x*+ (a-6)x-3a

-3a=-3, .a=1

" A=a-6=-5
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(¥ —dx+4)- (> -2y +1)
(x-2)-(y-1)
{G=-2)+-D}{x-2)-(-1}
=(x+y-3)(x-y-1)

O|BE x4+y=231, x—y=11 5 JY5IH
(P —dx4+4) - (P -2+ 1)
=(31-3)(11-1)=0.1x 10 =1 ]t}
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VAx2 —12x 4+ 9+ VOx2 — 12x + 4
= /(2x=3)2 + /(3x-2)2

=2x—3|+3x-2
=x+10]B=2
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V2+1 V2-1
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=(V2-14+ V2+1)(V2-1-V2-1)
=2v2(-2) = -4V2
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